Article

# Several Quantum Hermite-Hadamard-Type Integral Inequalities for Convex Functions 

<br>1 Department of Mathematics, Politehnica University of Timisoara, 300006 Timisoara, Romania<br>2 Department of Management, Politehnica University of Timisoara, 300006 Timisoara, Romania; eugenia.grecu@upt.ro<br>* Correspondence: loredana.ciurdariu@upt.ro

Citation: Ciurdariu, L.; Grecu, E. Several Quantum Hermite-Hadamard-Type Integral Inequalities for Convex Functions. Fractal Fract. 2023, 7, 463. https://doi.org/ 10.3390/fractalfract7060463

Academic Editors: Seth Kermausuor and Eze Nwaeze

Received: 4 May 2023
Revised: 1 June 2023
Accepted: 5 June 2023
Published: 7 June 2023


Copyright: © 2023 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/).


#### Abstract

The aim of this study was to present several improved quantum Hermite-Hadamardtype integral inequalities for convex functions using a parameter. Thus, a new quantum identity is proven to be used as the main tool in the proof of our results. Consequently, in some special cases several new quantum estimations for q-midpoints and q-trapezoidal-type inequalities are derived with an example. The results obtained could be applied in the optimization of several economic geology problems.


Keywords: quantum calculus; convex functions; Hermite-Hadamard-type inequalities

## 1. Introduction

The field of mathematical inequalities and applications has seen great advancements in the last three decades. This has a significant impact on areas such as physics, earth sciences, engineering [1], statistics [2], economics [3] and approximation theory [4], information theory [5] and numerical analysis [6,7]. "Mathematical inequalities have streamlined the concept of classical convexity" [8]. It is known that "the scientific observations and calculations rely on convex functions and their relationship to mathematical inequalities" [8]. Integral inequalities represent a fundamental way to establish qualitative or quantitative mathematical results. The strong correlation between different convexities and symmetric functions, as well as between convex functions and integral inequalities, open a broad framework for studying a large category of complex problems.

Convexity is a natural concept for solving many problems in mathematics with numerous uses in industry, business and medicine. Various types of convexities have been investigated, such as, $h$-convexity defined by Varosanec [9], exponentially convex functions introduced by Bernstein [10] with covariance analysis applications, $r$-convex functions studied by Avriel [11], convex functions on coordinates introduced by Dragomir [12], $h$-convexity on coordinates introduced by Alomari et al. [13], exponentially $h$-convexity defined by Rashid et al. [14], and exponential $h$-convex functions [15] on coordinates given by W. Iqbal et al. On the other hand, Pal and Wong provided a base for exponential convex functions in the fields of information theory [16] and optimization theory. An important generalization of convexity was given in 1981 [17], by the introduction of invexity, due to its importance in optimization. Studies on convex and pre-invex functions have potential applications [18] in maximizing the likelihood [19] from multiple linear regressions [20] involving Gauss-Laplace distributions.

Quantum calculus has various applications in the interdisciplinary field of quantum information theory. This field contains many subfields, such as computer science, information theory [21], philosophy, and cryptography. Quantum calculus (i.e., q-calculus) is known as the study of calculus without limitations. This topic has become a reliable instrument in many areas of physics [22] and mathematics in recent years. The quantum integral inequalities are more useful and interesting than their classical equivalents. Jackson
studied the quantum difference operator [23]. The first use of quantum calculus and the difference equations [23] was in physics and chemistry problems. Siegel investigated string theory [24] involving quantum calculus. Recently, new applications have been established in various branches of physics and mathematics. In [25], in 1969, Agarwal studied $q$ fractional derivatives for the first time. $q$-calculus concepts [26] on finite intervals was used to find quantum analogues of known mathematical definitions and results. New quantum analogues [27] of the Ostrowski inequalities [28], using first-order quantum differentiable convex mappings, were presented by Noor et al. Several bounds for the left-hand side (LHS) of quantum H-H inequalities [29] were established. New quantum analogues of the classical Simpson's inequality were presented [30] for pre-invex functions. These new $q$-analogues of the ( $s, m$ ) that generalized ( $s, m$ ) pre-invex functions were given in [31] by Deng et al. The mathematical field [32] of time scale calculus contains quantum calculus as a subfield. "In studying quantum calculus, we are concerned with a specific time scale, called the $q$-time scale, defined as: $T=q^{N_{0}}=\left\{q^{t}: t \in \mathbb{N}_{0}\right\}^{\prime \prime}$, see [32].

Many inequalities, especially the Hermite-Hadamard (H-H)-type inequalities, contain a kind of symmetry, an important characteristic as symmetry commonly has a central role [21] in finding the correct way to solve dynamic inequalities. This famous inequality [12] has had many improvements and extensions [13] during recent decades [33], see, for example, [34], and nowadays, for quantum and post-quantum calculus, fractional calculus and fuzzy environment. Recently new generalizations and refinements of H-H-type integral inequalities for quantum $[29,31]$ and post-quantum calculus [35,36] have been obtained, e.g., $[37,38]$ and the references cited therein.

Motivated by [36], we aimed to obtain new parametrized $q$-H-H-type inequalities for third-order $q$-differentiable functions using a new quantum identity, concerning the third-order $q$-left and right derivatives. These results are different from the results of [39] and are similar to the results of [36]. Our work represents the case when the functions accept the third $q$-derivative instead of the first $q$-derivative, see [36], and the left term of these inequalities contains two integrals defined as two new intervals, $[a, \lambda b+(1-$ $\lambda) a]$ and $[\lambda a+(1-\lambda) b, b]$, different from intervals $[a, x]$ and $[x, b]$ which appear in [39] and [35]. The values of the parameter $\lambda$ change these intervals in a different way, which is advantageous. Furthermore, here new terms appear in the left term of these inequalities with different coefficients of the third $q$-derivatives in the right term.

The paper is structured as four sections as follows. Section 2 provides a brief summary of the fundamental definitions and properties regarding quantum calculus and the $\mathrm{H}-$ H integral inequality. In Section 3, we state and prove our main results in Lemma 1, Theorems 4-6. In these theorems and consequent new $q$-midpoints, trapezoidal and $q$ - $\mathrm{H}-$ H-type integral inequalities are established for three times differentiable convex functions. Many consequences are formulated with a given example. Figure and several calculus in Example 1 were performed using the Matlab R2023a software version. Applications to special cases of real numbers are presented in Section 3 using the newly generated results. In Section 4, a discussion and conclusions are drawn.

## 2. Preliminary on $q$-Calculus and Inequalities

The classical H-H inequality says that "if $\theta:[a, b] \rightarrow \mathbb{R}$ is a convex function, then the following inequality holds:

$$
\begin{equation*}
\theta\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_{a}^{b} \theta(x) d x \leq \frac{\theta(a)+\theta(b)}{2} \tag{1}
\end{equation*}
$$

When $\theta$ is a concave function, then the previous inequality holds but in the opposite direction", see [40].

We assume that $0<q<1$. Let $[a, b]$ be a real interval, where $a<b$. We assume that $[n]_{q}=\frac{1-q^{n}}{1-q}=1+q+\ldots+q^{n-2}+q^{n-1}, n \in \mathbb{N}$.

Now we present some important definitions, remarks and lemmas of the $q$-calculus which will be used throughout this paper.

Definition 1 ([36]). The right or $q^{b}$-derivative of $\theta:[a, b] \rightarrow \mathbb{R}$ at $x \in[a, b]$ is expressed as:

$$
{ }^{b} D_{q} \theta(x)=\frac{\theta(q x+(1-q) b)-\theta(x)}{(1-q)(b-x)}, x \neq b .
$$

Definition $2([36,41])$. The left or $q_{a}$-derivative of $\theta:[a, b] \rightarrow \mathbb{R}$ at $x \in[a, b]$ is expressed as:

$$
{ }_{a} D_{q} \theta(x)=\frac{\theta(x)-\theta(q x+(1-q) a)}{(1-q)(x-a)}, x \neq a .
$$

Definition 3 ([36]). The right or $q^{b}$-integral of $\theta:[a, b] \rightarrow \mathbb{R}$ at $x \in[a, b]$ is defined as:

$$
\int_{x}^{b} \theta(t)^{b} d_{q} t=(1-q)(b-x) \sum_{n=0}^{\infty} q^{n} \theta\left(q^{n} x+\left(1-q^{n}\right) b\right)=(b-a) \int_{0}^{1} \theta(t b+(1-t) x)^{1} d_{q} t
$$

Definition 4 ([36]). The left or $q_{a}$-integral of $\theta:[a, b] \rightarrow \mathbb{R}$ at $x \in[a, b]$ is defined as:

$$
\int_{a}^{x} \theta(t)_{a} d_{q} t=(1-q)(x-a) \sum_{n=0}^{\infty} q^{n} \theta\left(q^{n} x+\left(1-q^{n}\right) a\right)=(b-a) \int_{0}^{1} \theta(t x+(1-t) a) d_{q} t .
$$

Definition 5 ([36]). We have the equality for $q_{a}$-integrals, defined as

$$
\int_{a}^{b}(x-a)^{\alpha}{ }_{a} d_{q} x=\frac{(b-a)^{\alpha+1}}{[\alpha+1]_{q}},
$$

for $\alpha \in \mathbb{R}-\{-1\}$.
The fundamental properties of these derivatives and integrals can be found in [41,42]. Recently, new refinements and generalizations of $q$-H-H integral inequalities for $q$-differentiable functions were given in [36].

Theorem 1 ([36]). "We assume that the conditions of Lemma 2 ([36]) hold. If $\left|{ }_{a} D_{q} \theta\right|$ and $\left|{ }^{b} D_{q} \theta\right|$ are convex on $[a, b]$, then the following inequality holds:

$$
\begin{aligned}
&\left|\frac{1}{2 \lambda(b-a)}\left(\int_{a}^{\lambda b+(1-\lambda) a} \theta(t)_{a} d_{q} t+\int_{\lambda a+(1-\lambda) b}^{b} \theta(t)^{b} d_{q} t\right)-\frac{\theta(\lambda b+(1-\lambda) a)+\theta(\lambda a+(1-\lambda) b)}{2}\right| \\
& \leq \frac{\lambda q(b-a)}{2[2]_{q}[3]_{q}}\left[\left([3]_{q}-\lambda[2]_{q}\right)\left[\left.\right|^{b} D_{q} \theta(b)\left|+\left.\right|_{a} D_{q} \theta(a)\right|\right]+\lambda[2]_{q}\left[\left.\right|^{b} D_{q} \theta(a)\left|+\left|{ }_{a} D_{q} \theta(b)\right|\right]\right] . "\right.
\end{aligned}
$$

Theorem 2 ([36]). "We assume that the conditions of Lemma 2 ([36]) hold. If $\left.\left.\right|_{a} D_{q} \theta\right|^{s}$ and $\left|{ }^{b} D_{q} \theta\right|^{s}$, $s>1$ are convex, then the following inequality holds:

$$
\begin{gathered}
\left|\frac{1}{2 \lambda(b-a)}\left(\int_{a}^{\lambda b+(1-\lambda) a} \theta(t)_{a} d_{q} t+\int_{\lambda a+(1-\lambda) b}^{b} \theta(t)^{b} d_{q} t\right)-\frac{\theta(\lambda b+(1-\lambda) a)+\theta(\lambda a+(1-\lambda) b)}{2}\right| \\
\leq \frac{\lambda q(b-a)}{2}\left(\frac{1}{[r+1]_{q}}\right)^{\frac{1}{r}}\left[\left(\left.\left.\frac{[2]_{q}-\lambda}{[2]_{q}}\right|^{b} D_{q} \theta(b)\right|^{s}+\left.\left.\frac{\lambda}{[2]_{q}}\right|^{b} D_{q} \theta(a)\right|^{s}\right)^{\frac{1}{s}}\right. \\
\left.+\left(\left.\left.\frac{[2]_{q}-\lambda}{[2]_{q}}\right|_{a} D_{q} \theta(a)\right|^{s}+\left.\left.\frac{\lambda}{[2]_{q}}\right|_{a} D_{q} \theta(b)\right|^{s}\right)^{\frac{1}{s}}\right]
\end{gathered}
$$

where $s^{-1}+r^{-1}=1$."

Theorem 3 ([36]). "We assume that the conditions of Lemma 2 ([36]) hold. If $\left|{ }_{a} D_{q} \theta\right|^{s}$ and $\left.\left.\right|^{b} D_{q} \theta\right|^{s}$, $s \geq 1$ are convex, then the following inequality holds:

$$
\begin{gathered}
\left|\frac{1}{2 \lambda(b-a)}\left(\int_{a}^{\lambda b+(1-\lambda) a} \theta(t)_{a} d_{q} t+\int_{\lambda a+(1-\lambda) b}^{b} \theta(t)^{b} d_{q} t\right)-\frac{\theta(\lambda b+(1-\lambda) a)+\theta(\lambda a+(1-\lambda) b)}{2}\right| \\
\leq \frac{\lambda q(b-a)}{2[2]_{q}}\left[\left(\frac{\left.\left.\left([3]_{q}-\lambda[2]_{q}\right)\right|^{b} D_{q} \theta(b)\right|^{s}+\left.\left.\lambda[2]_{q}\right|^{b} D_{q} \theta(a)\right|^{s}}{[3]_{q}}\right)^{\frac{1}{s}}\right. \\
\left.+\left(\frac{\left.\left.\left([3]_{q}-\lambda[2]_{q}\right)\right|_{a} D_{q} \theta(a)\right|^{s}+\left.\left.\lambda[2]_{q}\right|_{a} D_{q} \theta(b)\right|^{s}}{[3]_{q}}\right)^{\frac{1}{s}}\right] . \prime
\end{gathered}
$$

## 3. Results

A new quantum identity is given below as the main tool in the proof of our results. New estimates of parametrized $q$-H-H-type integral inequalities for three time quantum differentiable functions are presented below starting from the results from [36]. In addition, new consequent terms and applications, including an example, are given to illustrate the investigated results.

Lemma 1. Let $\theta:[a, b] \rightarrow \mathbb{R}$ be a third-order $q$-differentiable function with ${ }_{a} D_{q}^{3} \theta$ and ${ }^{b} D_{q}^{3} \theta$ continuous and $q$-integrable functions on $[a, b]$, respectively. Thus, the following equality holds,

$$
\begin{equation*}
{ }_{a}^{b} P_{q}(\lambda)=\frac{\lambda^{3}(b-a)^{3}}{2} \int_{0}^{1} q^{6} t^{3}\left[{ }^{b} D_{q}^{3} \theta((1-\lambda t) b+\lambda t a)-{ }_{a} D_{q}^{3} \theta((1-\lambda t) a+\lambda t b)\right] d_{q} t \tag{2}
\end{equation*}
$$

where

$$
\begin{aligned}
{ }_{a}^{b} P_{q}(\lambda) & =\frac{[2]_{q}[3]_{q}}{2 \lambda(b-a)}\left[\int_{\lambda a+(1-\lambda) b}^{b} \theta(t)^{b} d_{q} t+\int_{a}^{\lambda b+(1-\lambda a)} \theta(t)_{a} d_{q} t\right] \\
& -\frac{1-q[2]_{q}[3]_{q}(1-q)}{2(1-q)^{2}}[\theta(\lambda a+(1-\lambda) b)+\theta(\lambda b+(1-\lambda) a)] \\
& -\frac{q\left(1-q[3]_{q}\right)}{2(1-q)^{2}}[\theta(q \lambda a+(1-q \lambda) b)+\theta(q \lambda b+(1-q \lambda) a)] \\
& -\frac{q^{2}}{2(1-q)^{2}}\left[\theta\left(q^{2} \lambda a+\left(1-q^{2} \lambda\right) b\right)+\theta\left(q^{2} \lambda b+\left(1-q^{2} \lambda\right) a\right)\right]
\end{aligned}
$$

Proof. Using Definition 1, Definition 3 and calculus, we obtain

$$
\begin{aligned}
I_{1} & =\int_{0}^{1} t^{3 b} D_{q}^{3} \theta((1-\lambda t) b+\lambda t a) d_{q} t \\
& =\int_{0}^{1} \frac{1}{q^{3}(1-q)^{3} \lambda^{3}(b-a)^{3}}\left[\theta\left(q^{3} \lambda t a+b\left(1-q^{3} \lambda t\right)\right)-[3]_{q} \theta\left(q^{2} \lambda t a+b\left(1-q^{2} \lambda t\right)\right.\right. \\
& \left.+q[3]_{q} \theta(q \lambda t a+b(1-q \lambda t))-q^{3} \theta(\lambda t a+(1-\lambda t) b)\right] d_{q} t \\
& =\frac{1}{(b-a)^{3} \lambda^{3} q^{3}(1-q)^{2}}\left[\sum_{n=0}^{\infty} q^{n} \theta\left(q^{n+3} \lambda a+b\left(1-q^{n+3} \lambda\right)\right)\right. \\
& -[3]_{q} \sum_{n=0}^{\infty} q^{n} \theta\left(q^{n+2} \lambda a+b\left(1-q^{n+2} \lambda\right)\right) \\
& \left.+q[3]_{q} \sum_{n=0}^{\infty} q^{n} \theta\left(q^{n+1} \lambda a+b\left(1-q^{n+1} \lambda\right)\right)-q^{3} \sum_{n=0}^{\infty} q^{n} \theta\left(q^{n} \lambda a+b\left(1-q^{n} \lambda\right)\right)\right] \\
& =\frac{1-q}{(b-a)^{3} \lambda^{3} q^{3}(1-q)^{3}}\left[\frac{1}{q^{3}} \sum_{n=3}^{\infty} q^{n} \theta\left(q^{n} \lambda a+b\left(1-q^{n} \lambda\right)\right)-\frac{[3]_{q}}{q^{2}} \sum_{n=2}^{\infty} q^{n} \theta\left(q^{n} \lambda a+b\left(1-q^{n} \lambda\right)\right)\right.
\end{aligned}
$$

$\left.+[3]_{q} \sum_{n=1}^{\infty} q^{n} \theta\left(q^{n} \lambda a+b\left(1-q^{n} \lambda\right)\right)-q^{3} \sum_{n=0}^{\infty} q^{n} \theta\left(q^{n} \lambda a+b\left(1-q^{n} \lambda\right)\right)\right]$
$=\frac{1-q}{(b-a)^{3} \lambda^{3} q^{3}(1-q)^{3}}\left\{\frac{1}{q^{3}}\left[\sum_{n=0}^{\infty} q^{n} \theta\left(q^{n} \lambda a+b\left(1-q^{n} \lambda\right)\right)-\theta(\lambda a+b(1-\lambda))\right.\right.$

- $\left.q \theta(q \lambda a+b(1-q \lambda))-q^{2} \theta\left(q^{2} \lambda a+b\left(1-q^{2} \lambda\right)\right)\right]$
$-\frac{[3]_{q}}{q^{2}}\left[\sum_{n=0}^{\infty} q^{n} \theta\left(q^{n} \lambda a+b\left(1-q^{n} \lambda\right)\right)-\theta(\lambda a+b(1-\lambda))-q \theta(q \lambda a+b(1-q \lambda))\right]$
$\left.\left.+[3]_{q}\left[\sum_{n=0}^{\infty} q^{n} \theta\left(q^{n} \lambda a+b\left(1-q^{n} \lambda\right)\right)-\theta(\lambda a+b(1-\lambda))\right]-q^{3} \sum_{n=0}^{\infty} q^{n} \theta\left(q^{n} \lambda a+b\left(1-q^{n} \lambda\right)\right)\right]\right\}$
$=\frac{1}{(b-a)^{4} \lambda^{4} q^{3}(1-q)^{3}}\left(\frac{1}{q^{3}}-\frac{[3]_{q}}{q^{2}}+[3]_{q}-q^{3}\right) \int_{\lambda a+b(1-\lambda)}^{b} \theta(t)^{b} d_{q} t$
$-\frac{1}{(b-a)^{3} \lambda^{3} q^{3}(1-q)^{2}}\left(\frac{1}{q^{3}}-\frac{[3]_{q}}{q^{2}}+[3]_{q}\right) \theta(\lambda a+b(1-\lambda))$
$-\frac{1}{(b-a)^{3} \lambda^{3} q^{5}(1-q)^{2}}\left(1-q[3]_{q}\right) \theta(q \lambda a+b(1-q \lambda))$
$-\frac{1}{(b-a)^{3} \lambda^{3} q^{4}(1-q)^{2}} \theta\left(q^{2} \lambda a+b\left(1-q^{2} \lambda\right)\right)$.
In the same way, from Definition 2, Definition 4 and calculus, we obtain

$$
\begin{aligned}
I_{2} & =\int_{0}^{1} t^{3}{ }_{a} D_{q}^{3} \theta((1-\lambda t) a+\lambda t b) d_{q} t \\
& =\int_{0}^{1} \frac{1}{q^{3}(1-q)^{3} \lambda^{3}(b-a)^{3}}\left[-\theta\left(q^{3} \lambda t b+a\left(1-q^{3} \lambda t\right)\right)+[3]_{q} \theta\left(q^{2} \lambda t b+a\left(1-q^{2} \lambda t\right)\right.\right. \\
& \left.-q[3]_{q} \theta(q \lambda t b+a(1-q \lambda t))+q^{3} \theta(\lambda t b+(1-\lambda t) a)\right] d_{q} t \\
& =\frac{1}{(b-a)^{3} \lambda^{3} q^{3}(1-q)^{2}}\left[-\sum_{n=0}^{\infty} q^{n} \theta\left(q^{n+3} \lambda b+a\left(1-q^{n+3} \lambda\right)\right)\right. \\
& +[3]_{q} \sum_{n=0}^{\infty} q^{n} \theta\left(q^{n+2} \lambda b+a\left(1-q^{n+2} \lambda\right)\right) \\
& \left.=q[3]_{q} \sum_{n=0}^{\infty} q^{n} \theta\left(q^{n+1} \lambda b+a\left(1-q^{n+1} \lambda\right)\right)+q^{3} \sum_{n=0}^{\infty} q^{n} \theta\left(q^{n} \lambda b+a\left(1-q^{n} \lambda\right)\right)\right] \\
& =\frac{1-q}{(b-a)^{3} \lambda^{3} q^{3}(1-q)^{3}}\left[-\frac{1}{q^{3}} \sum_{n=3}^{\infty} q^{n} \theta\left(q^{n} \lambda b+a\left(1-q^{n} \lambda\right)\right)\right. \\
& +\frac{[3]_{q}}{q^{2}} \sum_{n=2}^{\infty} q^{n} \theta\left(q^{n} \lambda b+a\left(1-q^{n} \lambda\right)\right)-[3]_{q} \sum_{n=1}^{\infty} q^{n} \theta\left(q^{n} \lambda b+a\left(1-q^{n} \lambda\right)\right) \\
& \left.+q^{3} \sum_{n=0}^{\infty} q^{n} \theta\left(q^{n} \lambda b+a\left(1-q^{n} \lambda\right)\right)\right] \\
& =\frac{1-q}{(b-a)^{3} \lambda^{3} q^{3}(1-q)^{3}}\left\{-\frac{1}{q^{3}}\left[\sum_{n=0}^{\infty} q^{n} \theta\left(q^{n} \lambda b+a\left(1-q^{n} \lambda\right)\right)-\theta(\lambda b+a(1-\lambda))\right.\right. \\
& \left.-q \theta(q \lambda b+a(1-q \lambda))-q^{2} \theta\left(q^{2} \lambda b+a\left(1-q^{2} \lambda\right)\right)\right]+\frac{[3]_{q}}{q^{2}}\left[\sum_{n=0}^{\infty} q^{n} \theta\left(q^{n} \lambda b+a\left(1-q^{n} \lambda\right)\right)\right. \\
& -\theta(\lambda b+a(1-\lambda))-q \theta(q \lambda b+a(1-q \lambda))]
\end{aligned}
$$

$$
\begin{aligned}
& \left.\left.-[3]_{q}\left[\sum_{n=0}^{\infty} q^{n} \theta\left(q^{n} \lambda b+a\left(1-q^{n} \lambda\right)\right)-\theta(\lambda b+a(1-\lambda))\right]+q^{3} \sum_{n=0}^{\infty} q^{n} \theta\left(q^{n} \lambda b+a\left(1-q^{n} \lambda\right)\right)\right]\right\} \\
& =\frac{1}{(b-a)^{4} \lambda^{4} q^{3}(1-q)^{3}}\left(-\frac{1}{q^{3}}+\frac{[3]_{q}}{q^{2}}-[3]_{q}+q^{3}\right) \int_{a}^{\lambda b+a(1-\lambda)} \theta(t)_{a} d_{q} t \\
& +\frac{1}{(b-a)^{3} \lambda^{3} q^{3}(1-q)^{2}}\left(\frac{1}{q^{3}}-\frac{[3]_{q}}{q^{2}}+[3]_{q}\right) \theta(\lambda b+a(1-\lambda)) \\
& +\frac{1}{(b-a)^{3} \lambda^{3} q^{5}(1-q)^{2}}\left(1-q[3]_{q}\right) \theta(q \lambda b+a(1-q \lambda)) \\
& +\frac{1}{(b-a)^{3} \lambda^{3} q^{4}(1-q)^{2}} \theta\left(q^{2} \lambda b+a\left(1-q^{2} \lambda\right)\right) .
\end{aligned}
$$

By subtracting $I_{2}$ from $I_{1}$ and multiplying the result by $\frac{\lambda^{3} q^{6}(b-a)^{3}}{2}$, it follows that

$$
\begin{aligned}
\frac{\lambda^{3} q^{6}(b-a)^{3}}{2}\left(I_{1}-I_{2}\right) & =\frac{[2]_{q}[3]_{q}}{2 \lambda(b-a)}\left[\int_{\lambda a+(1-\lambda) b}^{b} \theta(t)^{b} d_{q} t+\int_{a}^{\lambda b+(1-\lambda) a} \theta(t)_{a} d_{q} t\right] \\
& -\frac{1-q[2]_{q}[3]_{q}(1-q)}{2(1-q)^{2}}[\theta(\lambda a+b(1-\lambda))+\theta(\lambda b+a(1-\lambda))] \\
& -\frac{q\left(1-q[3]_{q}\right)}{2(1-q)^{2}}[\theta(q \lambda a+b(1-q \lambda))+\theta(q \lambda b+a(1-q \lambda))] \\
& -\frac{q^{2}}{2(1-q)^{2}}\left[\theta\left(q^{2} \lambda a+b\left(1-q^{2} \lambda\right)\right)+\theta\left(q^{2} \lambda b+a\left(1-q^{2} \lambda\right)\right)\right]
\end{aligned}
$$

and thus, the proof is complete.
Theorem 4. We assume that the hypotheses of Lemma 1 are satisfied. If $\left|{ }_{a} D_{q}^{3} \theta\right|$ and $\left|{ }^{b} D_{q}^{3} \theta\right|$ are convex on $[a, b]$ then the following inequality holds:

$$
\begin{align*}
&\left|{ }_{a}^{b} P_{q}(\lambda)\right|= \left\lvert\, \frac{[2]_{q}[3]_{q}}{2 \lambda(b-a)}\left[\int_{\lambda a+(1-\lambda) b}^{b} \theta(t)^{b} d_{q} t+\int_{a}^{\lambda b+(1-\lambda a)} \theta(t)_{a} d_{q} t\right]\right. \\
&- \frac{1-q[2]_{q}[3]_{q}(1-q)}{2(1-q)^{2}}[\theta(\lambda a+(1-\lambda) b)+\theta(\lambda b+(1-\lambda) a)] \\
&- \frac{q\left(1-q[3]_{q}\right)}{2(1-q)^{2}}[\theta(q \lambda a+(1-q \lambda) b)+\theta(q \lambda b+(1-q \lambda) a)] \\
&- \left.\frac{q^{2}}{2(1-q)^{2}}\left[\theta\left(q^{2} \lambda a+\left(1-q^{2} \lambda\right) b\right)+\theta\left(q^{2} \lambda b+\left(1-q^{2} \lambda\right) a\right)\right] \right\rvert\, \\
& \leq \frac{\lambda^{3} q^{6}(b-a)^{3}}{2[4]_{q}[5]_{q}}\left\{( [ 5 ] _ { q } - \lambda [ 4 ] _ { q } ) \left[\left.\right|^{b} D_{q}^{3} \theta(b)\left|+\left|{ }_{a} D_{q}^{3} \theta(a)\right|\right]\right.\right. \\
& \quad+\lambda[4]_{q}\left[\left.\right|^{b} D_{q}^{3} \theta(a)\left|+\left|{ }_{a} D_{q}^{3} \theta(b)\right|\right]\right\} . \tag{3}
\end{align*}
$$

Proof. By using Lemma 1, we obtain

$$
\begin{aligned}
{ }_{a}^{b} P_{q}(\lambda) \mid & =\left\lvert\, \frac{[2]_{q}[3]_{q}}{2 \lambda(b-a)}\left[\int_{\lambda a+(1-\lambda) b}^{b} \theta(t)^{b} d_{q} t+\int_{a}^{\lambda b+(1-\lambda a)} \theta(t)_{a} d_{q} t\right]\right. \\
& -\frac{1-q[2]_{q}[3]_{q}(1-q)}{2(1-q)^{2}}[\theta(\lambda a+(1-\lambda) b)+\theta(\lambda b+(1-\lambda) a)] \\
& -\frac{q\left(1-q[3]_{q}\right)}{2(1-q)^{2}}[\theta(q \lambda a+(1-q \lambda) b)+\theta(q \lambda b+(1-q \lambda) a)] \\
& \left.-\frac{q^{2}}{2(1-q)^{2}}\left[\theta\left(q^{2} \lambda a+\left(1-q^{2} \lambda\right) b\right)+\theta\left(q^{2} \lambda b+\left(1-q^{2} \lambda\right) a\right)\right] \right\rvert\, \\
& \leq \frac{\lambda^{3} q^{6}(b-a)^{3}}{2}\left\{\left.\int_{0}^{1} t^{3}\right|^{b} D_{q}^{3} \theta((1-\lambda t) b+\lambda t a) \mid d_{q} t\right. \\
& \left.+\int_{0}^{1} t^{3}{ }_{a} D_{q}^{3} \theta((1-\lambda t) a+\lambda t b) \mid d_{q} t\right\}
\end{aligned}
$$

and then with the help of convexity of $\left|{ }_{a} D_{q}^{3} \theta\right|$ and $\left|{ }^{b} D_{q}^{3} \theta\right|$, we have

$$
\begin{aligned}
\left|{ }_{a}^{b} P_{q}(\lambda)\right| & \leq \frac{\lambda^{3} q^{6}(b-a)^{3}}{2}\left\{\int_{0}^{1} t^{3}\left[\left.(1-\lambda t)\right|^{b} D_{q}^{3} \theta(b)|+\lambda t|^{b} D_{q}^{3} \theta(a) \mid\right] d_{q} t\right. \\
& \left.+\int_{0}^{1} t^{3}\left[\left.(1-\lambda t)\right|_{a} D_{q}^{3} \theta(a)|+\lambda t|_{a} D_{q}^{3} \theta(b) \mid\right] d_{q} t\right\} \\
& =\frac{\lambda^{3} q^{6}(b-a)^{3}}{2}\left\{\left[\left.\right|^{b} D_{q}^{3} \theta(b)\left|+{ }_{a} D_{q}^{3} \theta(a)\right|\right] \int_{0}^{1} t^{3}(1-\lambda t) d_{q} t\right. \\
& +\left[\left.\right|^{b} D_{q}^{3} \theta(a)\left|+\left|{ }_{a} D_{q}^{3} \theta(b)\right|\right] \int_{0}^{1} t^{4} \lambda d_{q} t\right\} \\
& =\frac{\lambda^{3} q^{6}(b-a)^{3}}{2}\left\{( \frac { 1 } { [ 4 ] _ { q } } - \frac { \lambda } { [ 5 ] _ { q } } ) \left[{ }^{b} D_{q}^{3} \theta(b)\left|+\left|{ }_{a} D_{q}^{3} \theta(a)\right|\right]\right.\right. \\
& +\frac{\lambda}{[5]_{q}}\left[{ }^{b} D_{q}^{3} \theta(a)\left|+\left|{ }_{a} D_{q}^{3} \theta(b)\right|\right]\right\} .
\end{aligned}
$$

Using calculus we obtain the desired inequality.
Remark 1. If we take $\lambda=1$ in Theorem 4, the following trapezoid-type inequality is obtained:

$$
\begin{aligned}
\left|{ }_{a}^{b} P_{q}(1)\right| & =\left\lvert\, \frac{[2]_{q}[3]_{q}}{2(b-a)}\left[\int_{a}^{b} \theta(t)^{b} d_{q} t+\int_{a}^{b} \theta(t)_{a} d_{q} t\right]-\frac{1-q[2]_{q}[3]_{q}(1-q)}{2(1-q)^{2}}[\theta(a)+\theta(b)]\right. \\
& -\frac{q\left(1-q[3]_{q}\right)}{2(1-q)^{2}}[\theta(q a+(1-q) b)+\theta(q b+(1-q) a)] \\
& \left.-\frac{q^{2}}{2(1-q)^{2}}\left[\theta\left(q^{2} a+\left(1-q^{2}\right) b\right)+\theta\left(q^{2} b+\left(1-q^{2}\right) a\right)\right] \right\rvert\, \\
& \leq \frac{q^{6}(b-a)^{3}}{2[4]_{q}[5]_{q}}\left\{( [ 5 ] _ { q } - [ 4 ] _ { q } ) \left[\left.\right|^{b} D_{q}^{3} \theta(b)\left|+\left|{ }_{a} D_{q}^{3} \theta(a)\right|\right]+[4]_{q}\left[\left.\right|^{b} D_{q}^{3} \theta(a)\left|+\left|{ }_{a} D_{q}^{3} \theta(b)\right|\right]\right\} .\right.\right.
\end{aligned}
$$

Remark 2. If we assign $\lambda=\frac{1}{2}$ in Theorem 4, then the following midpoint-type inequality is obtained:

$$
\begin{aligned}
\left|{ }_{a}^{b} P_{q}\left(\frac{1}{2}\right)\right| & =\left\lvert\, \frac{[2]_{q}[3]_{q}}{(b-a)}\left[\int_{\frac{a+b}{2}}^{b} \theta(t)^{b} d_{q} t+\int_{a}^{\frac{a+b}{2}} \theta(t)_{a} d_{q} t\right]-\frac{1-q[2]_{q}[3]_{q}(1-q)}{2(1-q)^{2}} \theta\left(\frac{a+b}{2}\right)\right. \\
& -\frac{q\left(1-q[3]_{q}\right)}{2(1-q)^{2}}\left[\theta\left(\frac{q}{2} a+\left(1-\frac{q}{2}\right) b\right)+\theta\left(\frac{q}{2} b+\left(1-\frac{q}{2}\right) a\right)\right] \\
& \left.-\frac{q^{2}}{2(1-q)^{2}}\left[\theta\left(\frac{q}{2}^{2} a+\left(1-\frac{q}{2}^{2}\right) b\right)+\theta\left(\frac{q^{2}}{2} b+\left(1-\frac{q}{2}^{2}\right) a\right)\right] \right\rvert\, \\
& \leq \frac{q^{6}(b-a)^{3}}{32[4]_{q}[5]_{q}}\left\{( 2 [ 5 ] _ { q } - [ 4 ] _ { q } ) \left[\left.\right|^{b} D_{q}^{3} \theta(b)\left|+\left|{ }_{a} D_{q}^{3} \theta(a)\right|\right]+[4]_{q}\left[\left.\right|^{b} D_{q}^{3} \theta(a)\left|+\left|{ }_{a} D_{q}^{3} \theta(b)\right|\right]\right\}\right.\right.
\end{aligned}
$$

Remark 3. If we assign $\lambda=\frac{1}{[2]_{q}}$ in Theorem 4, then the following inequality is obtained:

$$
\begin{aligned}
\left|{ }_{a}^{b} P_{q}\left(\frac{1}{[2]_{q}}\right)\right| & =\left\lvert\, \frac{[2]_{q}^{2}[3]_{q}}{2(b-a)}\left[\int_{\frac{a+q b}{[2]_{q}}}^{b} \theta(t)^{b} d_{q} t+\int_{a}^{\frac{q a+b}{22]_{q}}} \theta(t)_{a} d_{q} t\right]-\frac{1-q[2]_{q}[3]_{q}(1-q)}{2(1-q)^{2}}\left[\theta\left(\frac{a+q b}{[2]_{q}}\right)\right.\right. \\
& \left.+\theta\left(\frac{q a+b}{[2]_{q}}\right)\right]-\frac{q\left(1-q[3]_{q}\right)}{2(1-q)^{2}}\left[\theta\left(\frac{q a+b}{[2]_{q}}\right)+\theta\left(\frac{q b+a}{[2]_{q}}\right)\right] \\
& \left.-\frac{q^{2}}{2(1-q)^{2}}\left[\theta\left(\frac{q^{2} a+b\left([2]_{q}-q^{2}\right)}{[2]_{q}}\right)+\theta\left(\frac{q^{2} b+a\left([2]_{q}-q^{2}\right)}{[2]_{q}}\right)\right] \right\rvert\, \\
& \leq \frac{q^{6}(b-a)^{3}}{2[2]_{q}^{4}[4]_{q}[5]_{q}}\left\{\left([2]_{q}[5]_{q}-[4]_{q}\right)\left[{ }^{b} D_{q}^{3} \theta(b)\left|+\left.\right|_{a} D_{q}^{3} \theta(a)\right|\right]\right. \\
& \left.+[4]_{q}\left[\left.\right|^{b} D_{q}^{3} \theta(a)\left|+\left.\right|_{a} D_{q}^{3} \theta(b)\right|\right]\right\} .
\end{aligned}
$$

Theorem 5. We assume that the conditions from Lemma 1 hold. If $\left|{ }_{a} D_{q}^{3} \theta\right|{ }^{s}$ and $\left|{ }^{b} D_{q}^{3} \theta\right|{ }^{s}$ are convex functions when $s>1$ then the following inequality holds:

$$
\begin{aligned}
\left|{ }_{a}^{b} P_{q}(\lambda)\right| & \leq \frac{\lambda^{3} q^{6}(b-a)^{3}}{2}\left(\frac{1}{[3 r+1]_{q}}\right)^{\frac{1}{r}}\left\{\left[\left.\left.\frac{[2]_{q}-\lambda}{[2]_{q}}\right|^{b} D_{q}^{3} \theta(b)\right|^{s}+\left.\left.\frac{\lambda}{[2]_{q}}\right|^{b} D_{q}^{3} \theta(a)\right|^{s}\right]^{\frac{1}{s}}\right. \\
& \left.+\left[\left.\left.\frac{[2]_{q}-\lambda}{[2]_{q}}\right|_{a} D_{q}^{3} \theta(a)\right|^{s}+\left.\left.\frac{\lambda}{[2]_{q}}\right|_{a} D_{q}^{3} \theta(b)\right|^{s}\right]^{\frac{1}{s}}\right\},
\end{aligned}
$$

where $\frac{1}{s}+\frac{1}{r}=1$.
Proof. This time, the parameters will be applied to Holder's inequality after being used before the modulus properties in Theorem 4, obtaining:

$$
\begin{aligned}
\left|{ }_{a}^{b} P_{q}(\lambda)\right| & \leq \frac{\lambda^{3} q^{6}(b-a)^{3}}{2}\left\{\left.\int_{0}^{1} t^{3}\right|^{b} D_{q}^{3} \theta((1-\lambda t) b+\lambda t a) \mid d_{q} t\right. \\
& \left.+\int_{0}^{1} t^{3}\left|{ }_{a} D_{q}^{3} \theta((1-\lambda t) a+\lambda t b)\right| d_{q} t\right\} \\
& \leq \frac{\lambda^{3} q^{6}(b-a)^{3}}{2}\left[\left(\int_{0}^{1} t^{3 r} d_{q} t\right)^{\frac{1}{r}}\left(\int_{0}^{1}\left|{ }^{b} D_{q}^{3} \theta((1-\lambda t) b+\lambda t a)\right|^{s} d_{q} t\right)^{\frac{1}{s}}\right. \\
& \left.+\left(\int_{0}^{1} t^{3 r} d_{q} t\right)^{\frac{1}{r}}\left(\int_{0}^{1}\left|{ }_{a} D_{q}^{3} \theta((1-\lambda t) a+\lambda t b)\right|^{s} d_{q} t\right)^{\frac{1}{s}}\right]
\end{aligned}
$$

Now we use the convex functions $\left|{ }_{a} D_{q}^{3} \theta\right|^{s}$ and $\left|{ }^{b} D_{q}^{3} \theta\right|^{s}$ to obtain

$$
\begin{aligned}
\left|{ }_{a}^{b} P_{q}(\lambda)\right| & \leq \frac{\lambda^{3} q^{6}(b-a)^{3}}{2}\left(\frac{1}{[3 r+1]_{q}}\right)^{\frac{1}{r}}\left[\left(\left.\left.\int_{0}^{1}(1-\lambda t)\right|^{b} D_{q}^{3} \theta(b)\right|^{s} d_{q} t+\left.\left.\int_{0}^{1} \lambda t\right|^{b} D_{q}^{3} \theta(a)\right|^{s} d_{q} t\right)^{\frac{1}{s}}\right. \\
& \left.+\left(\left.\left.\int_{0}^{1}(1-\lambda t)\right|_{a} D_{q}^{3} \theta(a)\right|^{s} d_{q} t+\left.\left.\int_{0}^{1} \lambda t\right|_{a} D_{q}^{3} \theta(b)\right|^{s} d_{q} t\right)^{\frac{1}{s}}\right] \\
& =\frac{\lambda^{3} q^{6}(b-a)^{3}}{2}\left(\frac{1}{[3 r+1]_{q}}\right)^{\frac{1}{r}}\left\{\left[\left.\left.\frac{[2]_{q}-\lambda}{[2]_{q}}\right|^{b} D_{q}^{3} \theta(b)\right|^{s}+\left.\left.\frac{\lambda}{[2]_{q}}\right|^{b} D_{q}^{3} \theta(a)\right|^{s}\right]^{\frac{1}{s}}\right. \\
& \left.+\left[\left.\left.\frac{[2]_{q}-\lambda}{[2]_{q}}\right|_{a} D_{q}^{3} \theta(a)\right|^{s}+\frac{\lambda}{[2]_{q}}\left|{ }_{a} D_{q}^{3} \theta(b)\right|^{s}\right]^{\frac{1}{s}}\right\},
\end{aligned}
$$

which completes the proof.
Remark 4. If we assign $\lambda=1$ in Theorem 5, then the following trapezoid-type inequality is obtained:

$$
\begin{aligned}
{ }_{a}^{b} P_{q}(1) \mid & =\left\lvert\, \frac{[2]_{q}[3]_{q}}{2(b-a)}\left[\int_{a}^{b} \theta(t)^{b} d_{q} t+\int_{a}^{b} \theta(t)_{a} d_{q} t\right]-\frac{1-q[2]_{q}[3]_{q}(1-q)}{2(1-q)^{2}}[\theta(a)+\theta(b)]\right. \\
& -\frac{q\left(1-q[3]_{q}\right)}{2(1-q)^{2}}[\theta(q a+(1-q) b)+\theta(q b+(1-q) a)] \\
& \left.-\frac{q^{2}}{2(1-q)^{2}}\left[\theta\left(q^{2} a+\left(1-q^{2}\right) b\right)+\theta\left(q^{2} b+\left(1-q^{2}\right) a\right)\right] \right\rvert\, \\
& \leq \frac{q^{6}(b-a)^{3}}{2}\left(\frac{1}{[3 r+1]_{q}}\right)^{\frac{1}{r}}\left\{\left[\left.\left.\frac{[2]_{q}-1}{[2]_{q}}\right|^{b} D_{q}^{3} \theta(b)\right|^{s}+\left.\left.\frac{1}{[2]_{q}}\right|^{b} D_{q}^{3} \theta(a)\right|^{s}\right]^{\frac{1}{s}}\right. \\
& \left.+\left[\left.\left.\frac{[2]_{q}-1}{[2]_{q}}\right|_{a} D_{q}^{3} \theta(a)\right|^{s}+\left.\left.\frac{1}{[2]_{q}}\right|_{a} D_{q}^{3} \theta(b)\right|^{s}\right]^{\frac{1}{s}}\right\} .
\end{aligned}
$$

Remark 5. If we assign $\lambda=\frac{1}{2}$ in Theorem 5, then the following midpoint-type inequality is obtained:

$$
\begin{aligned}
\left|{ }_{a}^{b} P_{q}\left(\frac{1}{2}\right)\right| & =\left\lvert\, \frac{[2]_{q}[3]_{q}}{(b-a)}\left[\int_{\frac{a+b}{2}}^{b} \theta(t)^{b} d_{q} t+\int_{a}^{\frac{a+b}{2}} \theta(t)_{a} d_{q} t\right]-\frac{1-q[2]_{q}[3]_{q}(1-q)}{2(1-q)^{2}} \theta\left(\frac{a+b}{2}\right)\right. \\
& -\frac{q\left(1-q[3]_{q}\right)}{2(1-q)^{2}}\left[\theta\left(\frac{q}{2} a+\left(1-\frac{q}{2}\right) b\right)+\theta\left(\frac{q}{2} b+\left(1-\frac{q}{2}\right) a\right)\right] \\
& \left.-\frac{q^{2}}{2(1-q)^{2}}\left[\theta\left(\frac{q^{2}}{2} a+\left(1-\frac{q}{2}^{2}\right) b\right)+\theta\left(\frac{q^{2}}{2} b+\left(1-\frac{q^{2}}{2}\right) a\right)\right] \right\rvert\, \\
& \leq \frac{q^{6}(b-a)^{3}}{16}\left(\frac{1}{[2]_{q}}\right)^{\frac{1}{s}}\left(\frac{1}{[3 r+1]_{q}}\right)^{\frac{1}{r}}\left\{\left[\left.\left.\left(2[2]_{q}-1\right)\right|^{b} D_{q}^{3} \theta(b)\right|^{s}+\left.\left.\right|^{b} D_{q}^{3} \theta(a)\right|^{s}\right]^{\frac{1}{s}}\right. \\
& \left.+\left[\left.\left(2[2]_{q}-1\right)| |_{a} D_{q}^{3} \theta(a)\right|^{s}+\left|{ }_{a} D_{q}^{3} \theta(b)\right|^{s}\right]^{\frac{1}{s}}\right\} .
\end{aligned}
$$

Theorem 6. We assume that the conditions from Lemma 1 hold. If $\left|{ }_{a} D_{q}^{3} \theta\right|{ }^{s}$ and $\left|{ }^{b} D_{q}^{3} \theta\right|{ }^{s}$ are convex functions for $s \geq 1$, then the following inequality holds:

$$
\begin{aligned}
\left|{ }_{a}^{b} P_{q}(\lambda)\right| & \leq \frac{\lambda^{3} q^{6}(b-a)^{3}}{2[4]_{q}[5]_{q}^{\frac{1}{s}}} \\
& \times\left\{\left[\left.\left.\left([5]_{q}-\lambda[4]_{q}\right)\right|^{b} D_{q}^{3} \theta(b)\right|^{s}+\left.\left.\lambda[4]_{q}\right|^{b} D_{q}^{3} \theta(a)\right|^{s}\right]^{\frac{1}{s}}\right. \\
& \left.+\left[\left.\left.\left([5]_{q}-\lambda[4]_{q}\right)\right|_{a} D_{q}^{3} \theta(a)\right|^{s}+\left.\left.\lambda[4]_{q}\right|_{a} D_{q}^{3} \theta(b)\right|^{s}\right]^{\frac{1}{s}}\right\}
\end{aligned}
$$

Proof. By applying the properties of modulus and the power mean inequality we obtain,

$$
\begin{aligned}
\left|{ }_{a}^{b} P_{q}(\lambda)\right| \leq & \frac{\lambda^{3} q^{6}(b-a)^{3}}{2}\left\{\left(\int_{0}^{1} t^{3} d_{q} t\right)^{1-\frac{1}{s}}\left(\left.\left.\int_{0}^{1} t^{3}\right|^{b} D_{q}^{3} \theta((1-\lambda t) b+\lambda t a)\right|^{s} d_{q} t\right)^{\frac{1}{s}}\right. \\
& \left.+\left(\int_{0}^{1} t^{3} d_{q} t\right)^{1-\frac{1}{s}}\left(\int_{0}^{1} t^{3}\left|{ }_{a} D_{q}^{3} \theta((1-\lambda t) a+\lambda t b)\right|^{s} d_{q} t\right)^{\frac{1}{s}}\right\}
\end{aligned}
$$

By using the convexity of the functions $\left|{ }_{a} D_{q}^{3} \theta\right|^{s}$ and $\left|{ }^{b} D_{q}^{3} \theta\right|^{s}$ we have,

$$
\begin{aligned}
\left|{ }_{a}^{b} P_{q}(\lambda)\right| & \leq \frac{\lambda^{3} q^{6}(b-a)^{3}}{2} \frac{1}{[4]_{q}^{1-\frac{1}{s}}}\left\{\left(\left.\left.\int_{0}^{1}\left(t^{3}(1-\lambda t)\right)\right|^{b} D_{q}^{3} \theta(b)\right|^{s}+\left.\left.\lambda t^{4}\right|^{b} D_{q}^{3} \theta(a)\right|^{s}\right) d_{q} t\right)^{\frac{1}{s}} \\
& \left.\left.+\left(\left.\left.\int_{0}^{1}\left(t^{3}(1-\lambda t)\right)\right|_{a} D_{q}^{3} \theta(a)\right|^{s}+\left.\left.\lambda t^{4}\right|_{a} D_{q}^{3} \theta(b)\right|^{s}\right) d_{q} t\right)^{\frac{1}{s}}\right\} \\
& =\frac{\lambda^{3} q^{6}(b-a)^{3}}{2} \frac{1}{[4]_{q}^{1-\frac{1}{s}}}\left\{\left[\left.\left.\left(\frac{1}{[4]_{q}}-\frac{\lambda}{[5]_{q}}\right)\right|^{b} D_{q}^{3} \theta(b)\right|^{s}+\left.\left.\frac{\lambda}{[5]_{q}}\right|^{b} D_{q}^{3} \theta(a)\right|^{s}\right]^{\frac{1}{s}}\right. \\
& \left.\left.+\left[\left.\left.\left(\frac{1}{[4]_{q}}-\frac{\lambda}{[5]_{q}}\right)\right|_{a} D_{q}^{3} \theta(a)\right|^{s}+\left.\left.\frac{\lambda}{[5]_{q}}\right|_{a} D_{q}^{3} \theta(b)\right|^{s}\right)\right]^{\frac{1}{s}}\right\} \\
& =\frac{\lambda^{3} q^{6}(b-a)^{3}}{2[4]_{q}[5]_{q}^{\frac{1}{s}}}\left\{\left[\left.\left.\left([5]_{q}-\lambda[4]_{q}\right)\right|^{b} D_{q}^{3} \theta(b)\right|^{s}+\left.\left.\lambda[4]_{q}\right|^{b} D_{q}^{3} \theta(a)\right|^{s}\right]^{\frac{1}{s}}\right. \\
& \left.\left.+\left[\left.\left.\left([5]_{q}-\lambda[4]_{q}\right)\right|_{a} D_{q}^{3} \theta(a)\right|^{s}+\left.\left.\lambda[4]_{q}\right|_{a} D_{q}^{3} \theta(b)\right|^{s}\right)\right]^{\frac{1}{s}}\right\} .
\end{aligned}
$$

Therefore, the proof is complete.
Remark 6. If we take $\lambda=1$ in Theorem 6, then the following trapezoid-type inequality is obtained:

$$
\begin{aligned}
\left|{ }_{a}^{b} P_{q}(1)\right| & =\left\lvert\, \frac{[2]_{q}[3]_{q}}{2(b-a)}\left[\int_{a}^{b} \theta(t)^{b} d_{q} t+\int_{a}^{b} \theta(t)_{a} d_{q} t\right]-\frac{1-q[2]_{q}[3]_{q}(1-q)}{2(1-q)^{2}}[\theta(a)+\theta(b)]\right. \\
& -\frac{\left.q(1-q]_{q}\right]}{2(1-q)^{2}}[\theta(q a+(1-q) b)+\theta(q b+(1-q) a)] \\
& \left.-\frac{q^{2}}{2(1-q)^{2}}\left[\theta\left(q^{2} a+\left(1-q^{2}\right) b\right)+\theta\left(q^{2} b+\left(1-q^{2}\right) a\right)\right] \right\rvert\, \\
& \leq \frac{q^{6}(b-a)^{3}}{2[4]_{q}[5]_{q}^{\frac{1}{s}}}\left\{\left[\left.\left.\left([5]_{q}-[4]_{q}\right)\right|^{b} D_{q}^{3} \theta(b)\right|^{s}+\left.\left.[4]_{q}\right|^{b} D_{q}^{3} \theta(a)\right|^{s}\right]^{\frac{1}{s}}\right. \\
& \left.+\left[\left.\left.\left([5]_{q}-[4]_{q}\right)\right|_{a} D_{q}^{3} \theta(a)\right|^{s}+\left.\left.[4]_{q}\right|_{a} D_{q}^{3} \theta(b)\right|^{5}\right]^{\frac{1}{s}}\right\} .
\end{aligned}
$$

Remark 7. If we take $\lambda=\frac{1}{2}$ in Theorem 6, then the following midpoint-type inequality holds:

$$
\begin{aligned}
\left|{ }_{a}^{b} P_{q}\left(\frac{1}{2}\right)\right| & =\left\lvert\, \frac{[2]_{q}[3]_{q}}{(b-a)}\left[\int_{\frac{a+b}{2}}^{b} \theta(t)^{b} d_{q} t+\int_{a}^{\frac{a+b}{2}} \theta(t)_{a} d_{q} t\right]-\frac{1-q[2]_{q}[3]_{q}(1-q)}{2(1-q)^{2}} \theta\left(\frac{a+b}{2}\right)\right. \\
& -\frac{q\left(1-q[3]_{q}\right)}{2(1-q)^{2}}\left[\theta\left(\frac{q}{2} a+\left(1-\frac{q}{2}\right) b\right)+\theta\left(\frac{q}{2} b+\left(1-\frac{q}{2}\right) a\right)\right] \\
& \left.-\frac{q^{2}}{2(1-q)^{2}}\left[\theta\left(\frac{q^{2}}{2} a+\left(1-\frac{q^{2}}{2}\right) b\right)+\theta\left(\frac{q^{2}}{2} b+\left(1-\frac{q^{2}}{2}\right) a\right)\right] \right\rvert\, \\
& \leq \frac{q^{6}(b-a)^{3}}{16[2]_{q}^{\frac{1}{s}}[4]_{q}[5]_{q}^{\frac{1}{s}}}\left\{\left.\left.\left[\left.\left.\left(2[5]_{q}-[4]_{q}\right)\right|^{b} D_{q}^{3} \theta(b)\right|^{s}+[4]\right]_{q}\right|^{b} D_{q}^{3} \theta(a)\right|^{s}\right]^{\frac{1}{s}} \\
& \left.+\left[\left.\left.\left(2[5]_{q}-[4]_{q}\right)\right|_{a} D_{q}^{3} \theta(a)\right|^{s}+\left.\left.[4]_{q}\right|_{a} D_{q}^{3} \theta(b)\right|^{s}\right]^{\frac{1}{s}}\right\} .
\end{aligned}
$$

Example 1. Let us consider the convex function $\theta:[0,1] \rightarrow \mathbb{R}$ defined by $\theta(x)=x^{5}$ and $\lambda=1$, which satisfies the conditions of Theorem 4. Using calculus, under these assumptions, we obtain for the left-hand side of inequality (3), the expression,

$$
\begin{aligned}
& \left\lvert\, \frac{[2]_{q}[3]_{q}}{2}\left[\int_{0}^{1} \theta(t)^{1} d_{q} t+\int_{0}^{1} \theta(t)_{0} d_{q} t\right]-\frac{1-q[2]_{q}[3]_{q}(1-q)}{2(1-q)^{2}}[\theta(0)+\theta(1)]\right. \\
& \left.-\frac{q\left(1-q[3]_{q}\right)}{2(1-q)^{2}}[\theta(1-q)+\theta(q)]-\frac{q^{2}}{2(1-q)^{2}}\left[\theta\left(1-q^{2}\right)+\theta\left(q^{2}\right)\right] \right\rvert\, \\
&=\left\lvert\, \frac{[2]_{q}[3]_{q}}{2}\left[\int_{0}^{1} t^{51} d_{q} t+\int_{0}^{1} t^{5}{ }_{0} d_{q} t\right]-\frac{1-q[2]_{q}[3]_{q}(1-q)}{2(1-q)^{2}}\right. \\
& \left.-\frac{q\left(1-q[3]_{q}\right)}{2(1-q)^{2}}\left[(1-q)^{5}+q^{5}\right]-\frac{q^{2}}{2(1-q)^{2}}\left[\left(1-q^{2}\right)^{5}+q^{10}\right] \right\rvert\, \\
&=\left\lvert\, \frac{[2]_{q}[3]_{q}}{2}(1-q)\left[\sum_{0}^{\infty} q^{n}\left(1-q^{n}\right)^{5}+\sum_{0}^{\infty} q^{6 n}\right]-\frac{1-q[2]_{q}[3]_{q}(1-q)}{2(1-q)^{2}}\right. \\
& \left.=\frac{q\left(1-q[3]_{q}\right)}{2(1-q)^{2}}\left[(1-q)^{5}+q^{5}\right]-\frac{q^{2}}{2(1-q)^{2}}\left[\left(1-q^{2}\right)^{5}+q^{10}\right] \right\rvert\, \\
&-\frac{[2]_{q}[3]_{q}}{2}\left[1-\frac{5}{[2]_{q}}+\frac{10}{[3]_{q}}-\frac{10}{[4]_{q}}+\frac{5}{[5]_{q}}\right]-\frac{1-q[2]_{q}[3]_{q}(1-q)}{2(1-q)^{2}} \\
& \left.-\frac{q\left(1-q[3]_{q}\right)}{2(1-q)^{2}}\left[(1-q)^{5}+q^{5}\right]-\frac{q^{2}}{2(1-q)^{2}}\left[\left(1-q^{2}\right)^{5}+q^{10}\right] \right\rvert\, .
\end{aligned}
$$

Then, using calculus, the right-hand side of inequality (3) becomes:

$$
\frac{q^{6}}{2[4]_{q}[5]_{q}}\left\{\left([5]_{q}-[4]_{q}\right)\left[{ }^{1} D_{q}^{3} \theta(1)\left|+\left.\right|_{0} D_{q}^{3} \theta(0)\right|\right]+[4]_{q}\left[\left.\right|^{1} D_{q}^{3} \theta(0)\left|+\left|{ }_{0} D_{q}^{3} \theta(1)\right|\right]\right\}\right.
$$

Thus, in this case inequality (3) becomes,

$$
\begin{gather*}
\left\lvert\, \frac{[2]_{q}[3]_{q}}{2}\left[1-\frac{5}{[2]_{q}}+\frac{10}{[3]_{q}}-\frac{10}{[4]_{q}}+\frac{5}{[5]_{q}}\right]-\frac{1-q[2]_{q}[3]_{q}(1-q)}{2(1-q)^{2}}\right. \\
\left.-\frac{q\left(1-q[3]_{q}\right)}{2(1-q)^{2}}\left[(1-q)^{5}+q^{5}\right]-\frac{q^{2}}{2(1-q)^{2}}\left[\left(1-q^{2}\right)^{5}+q^{10}\right] \right\rvert\, \\
\leq \frac{q^{6}}{2[4]_{q}[5]_{q}}\left\{( [ 5 ] _ { q } - [ 4 ] _ { q } ) \left[\left.\right|^{1} D_{q}^{3} \theta(1)\left|+\left|{ }_{0} D_{q}^{3} \theta(0)\right|\right]+[4]_{q}\left[\left.\right|^{1} D_{q}^{3} \theta(0)\left|+\left|{ }_{0} D_{q}^{3} \theta(1)\right|\right]\right\} .\right.\right. \tag{4}
\end{gather*}
$$

On the other hand we have, ${ }_{0} D_{q}^{3} \theta(x)=[5]_{q}[4]_{q}[3]_{q} x^{2}$; therefore, ${ }_{0} D_{q}^{3} \theta(0)=0$ and ${ }_{0} D_{q}^{3} \theta(1)=[5]_{q}[4]_{q}[3]_{q}$. Using this in our case gives,

$$
{ }^{1} D_{q}^{3} \theta(x)=\frac{\left(q^{3} x+1-q^{3}\right)^{5}-[3]_{q}\left(q^{2} x+1-q^{2}\right)^{5}+q[3]_{q}(q x+1-q)^{5}-q^{3} x^{5}}{q^{3}(1-q)^{3}(1-x)^{3}}
$$

finding that ${ }^{1} D_{q}^{3} \theta(0)=q^{9}+3 q^{8}+6 q^{7}+4 q^{6}-4 q^{5}-14 q^{4}-11 q^{3}+q^{2}+8 q+6$ and ${ }^{1} D_{q}^{3} \theta(1)=$ $10\left(q^{3}+2 q^{2}+2 q+1\right)$.

One can see the validity of inequality (4) in Figure 1, where the red line represents the left term of inequality (4) and the right term is represented by the blue line in the figure.

The results could be used to optimise economic geology analyses; for example, in the study of metal ore resources, fossil fuels, and other materials of commercial value.

Here the Matlab R2023a software version was utilized to create Figure 1 and perform partial calculus operations of last two derivatives.


Figure 1. An example for inequality (3) from Theorem 4.
Remark 8. If we consider the same convex function $\theta:[0,1] \rightarrow \mathbb{R}$ defined by $\theta(x)=x^{5}$ and $\lambda=\frac{1}{2}$, or $\lambda=\frac{1}{[2]_{q}}$ the analogue inequalities and figures can be analysed as in Example 1.

Some important applications to the special means of real numbers can be found in [38], where the definitions of the arithmetic mean, harmonic mean and geometric mean are discussed. Similar inequalities can be obtained in our case and we formulate these results for the arithmetic mean.

Remark 9. If we assume $\left|{ }_{a} D_{q}^{3} \theta\right| \leq M$ and $\left|{ }^{b} D_{q}^{3} \theta\right| \leq M$ in Remark 1, we obtain

$$
\begin{aligned}
& \left\lvert\, \frac{[2]_{q}[3]_{q}}{2(b-a)}\left[\int_{a}^{b} \theta(t)^{b} d_{q} t+\int_{a}^{b} \theta(t)_{a} d_{q} t\right]-\frac{1-q[2]_{q}[3]_{q}(1-q)}{2(1-q)^{2}}[\theta(a)+\theta(b)]\right. \\
& -\frac{q\left(1-q[3]_{q}\right)}{2(1-q)^{2}}[\theta(q a+(1-q) b)+\theta(q b+(1-q) a)] \\
& \left.-\frac{q^{2}}{2(1-q)^{2}}\left[\theta\left(q^{2} a+\left(1-q^{2}\right) b\right)+\theta\left(q^{2} b+\left(1-q^{2}\right) a\right)\right] \right\rvert\, \leq \frac{M q^{6}(b-a)^{3}}{[4]_{q}} .
\end{aligned}
$$

Proposition 1. For $a, b \in \mathbb{R}, a<b$ we have,

$$
\begin{aligned}
& \left\lvert\, \frac{[2]_{q}[3]_{q}}{b-a} \mathcal{A}\left(\theta_{1}, \theta_{2}\right)-\frac{1-q[2]_{q}[3]_{q}(1-q)}{(1-q)^{2}} \mathcal{A}\left(a^{5}, b^{5}\right)\right. \\
& -\frac{q\left(1-q[3]_{q}\right)}{(1-q)^{2}} \mathcal{A}\left((q a+(1-q) b)^{5},(q b+(1-q) a)^{5}\right) \\
& \left.-\frac{q^{2}}{(1-q)^{2}} \mathcal{A}\left(\left(q^{2} a+\left(1-q^{2}\right) b\right)^{5},\left(q^{2} b+\left(1-q^{2}\right) a\right)^{5}\right) \right\rvert\, \leq \frac{M q^{6}(b-a)^{3}}{[4]_{q}}
\end{aligned}
$$

where

$$
\theta_{1}=(1-q)(b-a) \sum_{n=0}^{\infty} q^{n}\left(q^{n} a+\left(1-q^{n}\right) b\right)^{5}
$$

and

$$
\theta_{2}=(1-q)(b-a) \sum_{n=0}^{\infty} q^{n}\left(q^{n} b+\left(1-q^{n}\right) a\right)^{5}
$$

Proof. The inequality from Remark 9 used for the function $\theta(x)=x^{5}$ leads to the desired result.

Remark 10. If we assume $\left|{ }_{a} D_{q}^{3} \theta\right| \leq M$ and $\left|{ }^{b} D_{q}^{3} \theta\right| \leq M$ in Remark 2, we obtain

$$
\begin{aligned}
& \left\lvert\, \frac{[2]_{q}[3]_{q}}{(b-a)}\left[\int_{\frac{a+b}{2}}^{b} \theta(t)^{b} d_{q} t+\int_{a}^{\frac{a+b}{2}} \theta(t)_{a} d_{q} t\right]-\frac{1-q[2]_{q}[3]_{q}(1-q)}{2(1-q)^{2}} \theta\left(\frac{a+b}{2}\right)\right. \\
& -\frac{q\left(1-q[3]_{q}\right)}{2(1-q)^{2}}\left[\theta\left(\frac{q}{2} a+\left(1-\frac{q}{2}\right) b\right)+\theta\left(\frac{q}{2} b+\left(1-\frac{q}{2}\right) a\right)\right] \\
& \left.-\frac{q^{2}}{2(1-q)^{2}}\left[\theta\left(\frac{q^{2}}{2} a+\left(1-\frac{q}{2}^{2}\right) b\right)+\theta\left(\frac{q}{2}_{2}^{2} b+\left(1-\frac{q}{2}_{2}^{2}\right) a\right)\right] \right\rvert\, \leq \frac{M q^{6}(b-a)^{3}}{8[4]_{q}} .
\end{aligned}
$$

Proposition 2. For $a, b \in \mathbb{R}, a<b$ we have,

$$
\begin{aligned}
& \left\lvert\, \frac{2[2]_{q}[3]_{q}}{b-a} \mathcal{A}\left(\theta_{1}^{\prime}, \theta_{2}^{\prime}\right)-\frac{1-q[2]_{q}[3]_{q}(1-q)}{(1-q)^{2}} \mathcal{A}^{5}(a, b)\right. \\
& -\frac{q\left(1-q[3]_{q}\right)}{(1-q)^{2}} \mathcal{A}\left(\left(\frac{q}{2} a+\left(1-\frac{q}{2}\right) b\right)^{5},\left(\frac{q}{2} b+\left(1-\frac{q}{2}\right) a\right)^{5}\right) \\
& \left.-\frac{q^{2}}{(1-q)^{2}} \mathcal{A}\left(\left(\frac{q^{2}}{2} a+\left(1-\frac{q^{2}}{2}\right) b\right)^{5},\left(\frac{q^{2}}{2} b+\left(1-\frac{q^{2}}{2}\right) a\right)^{5}\right) \right\rvert\, \leq \frac{M q^{6}(b-a)^{3}}{8[4]_{q}}
\end{aligned}
$$

where

$$
\theta_{1}^{\prime}=\frac{(1-q)(b-a)}{2} \sum_{n=0}^{\infty} q^{n}\left(q^{n} \mathcal{A}(a, b)+\left(1-q^{n}\right) b\right)^{5}
$$

and

$$
\theta_{2}^{\prime}=\frac{(1-q)(b-a)}{2} \sum_{n=0}^{\infty} q^{n}\left(q^{n} \mathcal{A}(a, b)+\left(1-q^{n}\right) a\right)^{5} .
$$

Proof. The inequality from Remark 10 used for the function $\theta(x)=x^{5}$ leads to the desired result.

Proposition 3. For $a, b \in \mathbb{R}, a<b$ we have,

$$
\begin{aligned}
& \left\lvert\, \frac{[2]_{q}[3]_{q}}{2(b-a)} \mathcal{A}\left(\theta_{1}, \theta_{2}\right)-\frac{1-q[2]_{q}[3]_{q}(1-q)}{(1-q)^{2}} \mathcal{A}\left(a^{5}, b^{5}\right)\right. \\
& -\frac{q\left(1-q[3]_{q}\right)}{(1-q)^{2}} \mathcal{A}\left((q a+(1-q) b)^{5},(q b+(1-q) a)^{5}\right) \\
& \left.-\frac{q^{2}}{(1-q)^{2}} \mathcal{A}\left(\left(q^{2} a+\left(1-q^{2}\right) b\right)^{5},\left(q^{2} b+\left(1-q^{2}\right) a\right)^{5}\right) \right\rvert\, \leq \frac{M q^{6}(b-a)^{3}}{[3 r+1]_{q}^{\frac{1}{r}}}
\end{aligned}
$$

where

$$
\theta_{1}=(1-q)(b-a) \sum_{n=0}^{\infty} q^{n}\left(q^{n} a+\left(1-q^{n}\right) b\right)^{5}
$$

and

$$
\theta_{2}=(1-q)(b-a) \sum_{n=0}^{\infty} q^{n}\left(q^{n} b+\left(1-q^{n}\right) a\right)^{5} .
$$

Proof. The inequality from Remark 4 used for the function $\theta(x)=x^{5}$ leads to the desired result.

Proposition 4. For $a, b \in \mathbb{R}, a<b$ we have,

$$
\begin{aligned}
& \left\lvert\, \frac{2[2]_{q}[3]_{q}}{b-a} \mathcal{A}\left(\theta_{1}^{\prime}, \theta_{2}^{\prime}\right)-\frac{1-q[2]_{q}[3]_{q}(1-q)}{(1-q)^{2}} \mathcal{A}^{5}(a, b)\right. \\
& -\frac{q\left(1-q[3]_{q}\right)}{(1-q)^{2}} \mathcal{A}\left(\left(\frac{q}{2} a+\left(1-\frac{q}{2}\right) b\right)^{5},\left(\frac{q}{2} b+\left(1-\frac{q}{2}\right) a\right)^{5}\right) \\
& \left.-\frac{q^{2}}{(1-q)^{2}} \mathcal{A}\left(\left(\frac{q^{2}}{2} a+\left(1-\frac{q^{2}}{2}\right) b\right)^{5},\left(\frac{q^{2}}{2} b+\left(1-\frac{q^{2}}{2}\right) a\right)^{5}\right) \right\rvert\, \leq \frac{M q^{6}(b-a)^{3} 2^{\frac{1}{s}}}{8[3 r+1]_{q}^{\frac{1}{r}}}
\end{aligned}
$$

where

$$
\theta_{1}^{\prime}=\frac{(1-q)(b-a)}{2} \sum_{n=0}^{\infty} q^{n}\left(q^{n} \mathcal{A}(a, b)+\left(1-q^{n}\right) b\right)^{5}
$$

and

$$
\theta_{2}^{\prime}=\frac{(1-q)(b-a)}{2} \sum_{n=0}^{\infty} q^{n}\left(q^{n} \mathcal{A}(a, b)+\left(1-q^{n}\right) a\right)^{5}
$$

Proof. The inequality from Remark 5 for function $\theta(x)=x^{5}$ leads to the desired result.
Analogue inequalities can be obtained if the function $\theta(x)=x^{5}$ is chosen in Remarks 6 and 7.

## 4. Discussion and Conclusions

In this paper, several new parametrized $q$-H-H-type integral inequalities were given for functions whose third left and right $q$-derivatives are convex. Some basic inequalities, such as quantum Holder's inequality and power mean inequality, were used to obtain new bounds and an auxiliary quantum lemma was utilized in the demonstrations. Some consequences and an example were presented to illustrate the generated results. Using Matlab, Figure 1 confirms the results obtained in Section 3. Some interesting applications to special means have been presented. Many consequences arise in certain special cases of the parameter and an interesting problem to study may be to use these methods to prove $q$ fractional inequalities and similar inequalities for different kinds of convexities. The present study could be used to better guide the exploration of mineral resources. In our opinion this research could be very useful in structural geology, stratigraphic optimization, economic exploitation of mineral deposits, and building materials such as stones or gypsum.

We are confident that the ideas and techniques investigated here will inspire further studies on functional analysis and statistics.

Author Contributions: Conceptualization, L.C. and E.G.; methodology, L.C.; software, L.C.; validation, L.C. and E.G.; formal analysis, L.C.; investigation, L.C. and E.G.; resources, L.C. and E.G.; data curation, L.C.; writing-original draft preparation, L.C.; writing-review and editing, L.C. and E.G.; visualization, L.C. and E.G.; supervision, L.C. and E.G.; project administration, L.C. and E.G.; funding acquisition, L.C. and E.G. All authors have read and agreed to the version of the manuscript.

Funding: This research received no external funding.
Data Availability Statement: This study did not report any data.
Conflicts of Interest: The authors declare no conflict of interest.

## References

1. Cloud, M.J.; Drachman, B.C.; Lebedev, L.P. Inequalities with Applications to Engineering; Springer: London, UK, 2014. Liao, J.G.; Berg, A. Sharpening Jensen's inequality. Am. Stat. 2019, 73, 278-281.
Khan, M.A.; Anwar, S.; Khalid, S.; Sayed, Z.M.M.M. Inequalities of the type Hermite-Hadamard-Jensen-Mercer for strong convexity. Math. Probl. Eng. 2021, 2021, 5386488.
2. Fridli, S.; Schipp, F. Strong approximation via Sidon type inequalities. J. Approx. Theory 1998, 94, 263-284. [CrossRef]
3. Milovanovic, G.V.; Rassias, M.T. Analytic Number Theory, Approximation Theory and Special Functions; Springer: Berlin/Heidelberg, Germany, 2014; p. 891.
4. Dragomir, S.S. Inequalities with applications in numerical analysis. AIP Conf. Proc. 2007, 936, 681.
5. Dragomir, S.S.; Rassias, M.T. Ostrowski Type Inequalities and Applications in Numerical Integration; Springer: Berlin/Heidelberg, Germany, 2013; p. 504.
6. Kalsoom, H.; Vivas-Cortez, M. $q_{1} q_{2}$-Ostrowski-type integral inequalities involving property of generalized higher-order strongly n-polynomial preinvexity. Symmetry 2022, 14, 717. [CrossRef]
7. Varosanec, S. On $h$-convexity. J. Math. Anal. Appl. 2007, 326, 303-311. [CrossRef]
8. Bernstein, S.N. Sur les fonctions absolument monotones. Acta Math. 1929, 52, 1-66. [CrossRef]
9. Avriel, M. $r$-Convex functions. Math. Program. 1972, 2, 309-323. [CrossRef]
10. Dragomir, S.S. On Hadamard's inequality for convex functions on the co-ordinates in a rectangle from the plane. Taiwan J. Math. 2001, 5, 775-788.
11. Alomari, M.; Latif, M.A. On Hadamard-type inequalities for $h$-convex functions on the co-ordinates. Int. J. Math. Anal. 2009, 3, 1645-1656.
12. Rashid, S.; Noor, M.A.; Noor, K.I. Some new estimates for exponentially $(h, m)$-convex functions via extended generalized fractional integral operators. Korean J. Math. 2019, 27, 843-860.
13. Iqbal, W.; Rehman, A.U.; Farid, G.; Rathour, L.; Sharma, M.K.; Mishra, N. Further on Petrovic's types inequalities. J. Appl. Math. Inform. 2022, 40, 1021-1034.
14. Pal, S.; Wong, T.K. Exponentially concave functions and a new information geometry. Ann. Probab. 2018, 46, 1070-1113. [CrossRef]
15. Hanson, M.A. On sufficiency of the Kuhn-Tucker conditions. J. Math. Anal. Appl. 1981, 80, 545-550. [CrossRef]
16. Kilbas, A.A.; Srivastava, H.M.; Trujillo, J.J. Theory and Applications of Fractional Differential Equations; North-Holland Mathematical Studies; Elsevier (North-Holland) Science Publishers: Amsterdam, The Netherlands; London, UK; New York, NY, USA, 2006; Volume 204.
17. Srivastava, H.M.; Karlsson, P.W. Gaussian Hypergeometric Series; Halsted Press (Ellis Horwood Limited, Chichester): Chichester, UK; John Wiley and Sons: New York, NY, USA; Chichester, UK; Brisbane, Australia; Toronto, ON, Canada, 1985.
18. Barnett, N.S.; Dragomir, S.S. Some elementary inequalities for the expectation and variance of a random variable whose pdf is defined on a finite interval. RGMIA Res. Rep. Coll. 1999, 2, 1-7.
19. El-Deeb, A.A.; Awrejcewicz, J. Ostrowski-trapezoidal-Gruss-type on $(q, \omega)$-Hahn difference operator. Symmetry 2022, 14, 1776. [CrossRef]
20. Dasgupta, A.; Fajardo-Montenegro, J. Aspects of Quantum Gravity Phenomenology and Astrophysics. Universe 2023, 9, 128. [CrossRef]
21. Jackson, F.H. On $q$-difference equations. Am. J. Math. 1910, 32, 305-314. [CrossRef]
22. Siegel, W. Introduction to String Field Theory. Advanced Series in Mathematical Physics; World Scientific: Teaneck, NJ, USA, 1998; Volume 8.
23. Agarwal, R. A propos d'une note de m. pierre humbert. Comptes Rendus De L'Academie Des Sci. 1953, 236, 2031-2032.
24. Tariboon, J.; Ntouyas, S.K. Quantum calculus on finite intervals and aplications to impulsive difference equations. Adv. Differ. Equ. 2013, 2013, 282. [CrossRef]
25. Noor, M.; Noor, K.; Awan, M. Quantum Ostrowski inequalities for $q$-differentiable convex functions. J. Math. Inequal. 2016, 10, 1013-1018. [CrossRef]
26. Sahoo, S.K.; Kashuri, A.; Aljuaid, M.; Mishra, S.; Sen, M. On Ostrowski-Mercer's type fractional inequalities for convex functions and applications. Fractal Fract. 2023, 7, 215. [CrossRef]
27. Alp, N.; Sarikaya, M.Z.; Kunt, M.; Iscan, I. $q_{2}$-Hermite-Hadamard inequalities and quantum estimates for midpoint type inequalities via convex and quasi-convex functions. J. King Saud Univ. Sci. 2018, 30, 193-203. [CrossRef]
28. Deng, Y.; Awan, M.U.; Wu, S. Quantum Integral Inequalities of Simpson-Type for Strongly Preinvex Functions. Mathematics 2019, 7,751. [CrossRef]
29. Deng, Y.; Kalsoom, H.; Wu, S. Some new quantum Hermite-Hadamard-Type Estimates Within a Class of Generalized $(s, m)$ Preinvex Functions. Symmetry 2019, 10, 1283. [CrossRef]
30. Kara, H.; Budak, H.; Alp, N.; Kalsoom, H.; Sarikaya, M.Z. On new generalized quantum integrals and related Hermite-Hadamard inequalities. J. Inequalities Appl. 2021, 2021, 180. [CrossRef]
31. Khan, A.; Chu, Y.M.; Khan, T.U.; Khan, J. Some new inequalities of Hermite-Hadamard type for $s$-convex functions with applications. Open Math. 2017, 15, 1414-1430. [CrossRef]
32. Latif, M.A.; Dragomir, S. New inequalities of Hermite-Hadamard type for n-times differentiable convex and concave functions with applications. Filomat 2016, 30, 2609-2621. [CrossRef]
33. Luangboon, W.; Nonlaopon, K.; Tariboon, J.; Ntouyas, S.K.; Budak, H. Post-Quantum Ostrowski type integral inequalities for twice ( $p, q$ )-differentiable functions. J. Math. Ineq. 2022, 16, 1129-1144. [CrossRef]
34. Alp, N.; Budak, H.; Sarikaya, M.Z.; Ali, M.A. On new refinements and generalizations of $q$-Hermite-Hadamard inequalities for convex functions. Rocky Mountain J. Math. 2023. Available online: https:/ / projecteuclid.org/journals/rmjm/rocky-mountain-journal-of-mathematics / DownloadAcceptedPapers/220708-Budak.pdf (accessed on 4 June 2023).
35. Jhanthanam, S.; Tariboon, J.; Ntouyas, S.K.; Nonlaopon, K. On q-Hermite-Hadamard inequalities for differentiable convex functions. Mathematics 2019, 7, 632. [CrossRef]
36. Zhao, D.; Ali, M.A.; Luangboon, W.; Budak, H.; Nonlaopon, K. Some Generalizations of Different Types of Quantum Integral Inequalities for Differentiable Convex Functions with Applications. Fractal Fract. 2022, 6, 129. [CrossRef]
37. Ciurdariu, L.; Grecu, E. Post-quantum integral inequalities for three-times ( $p, q$ )-differential functions. Symmetry 2023, 246, 15.
38. Hadamard, J. Etude sur les proprietes des fonctions entieres en particulier d'une fonction consideree par Riemann. J. Math. Pures. Appl. 1893, 58, 171-215.
39. Tariboon, J.; Ntouyas, S.K. Quantum integral inequalities on finite intervals. J. Inequal. Appl. 2014, 13, 121. [CrossRef]
40. Ernst, T. A Comprehensive Treatment of $q$-Calculus; Springer: Basel, Switerland, 2012.

Disclaimer/Publisher's Note: The statements, opinions and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of MDPI and/or the editor(s). MDPI and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions or products referred to in the content.

